6 £ 2 # BxauUh—F 12 / 23® ~ 12 / 27 @ IT>yov DG

Bl®m| 1 2 | x| 3 4 w|B| =z 5 6 TRESZ | ESaE | AR R zow XE
23 E5 FiE BE BE EFE
ARBOEELESELE L1,
= e [F<D 1A7H (N ITRETES LS5 1C
2 | AR |2HH0| | FEEE |5 crmm 59 150 FTE U0 EREcELL51
= | ™ RYe Wish T —I T - SHEEICEDEL £ 5,
R Z
24 %=} RKER KT k4 = ZETR
B <%0 AR E IR
2 | x| S wE | B U A 15:10
X N TR~ TR
25 By | ER wE | BE 5| == —
A >
= z
& | F2MNBL | FRMEL Units | SEL2Y f; =3 15:10
7K X
26 = B e FiE BT
7
e KRB
*® | FzEL | 18 Units | = 13:35 i
* DOHEE i 4
1A i E3E3 FE FE BT
7 B | o) 7
i [STOOR| | g | REEE 13:35
é E 0)3—35%




